
F (Θ ,Φ)=cos(ϕ2 +
kh
2
cosΘ)

D=
2∣F (ΘMAX ,ΦMAX )∣

2

1+
sin (kh)
kh

cosϕ
=

2∣cos ( ϕ2 +
kh
2

)∣
2

1+
sin (kh)
kh

cosϕ
=
1+cos(ϕ+kh)

1+
sin (kh)
kh

cosϕ

Osna skupina ∣F (ΘMAX=0,ΦMAX )∣<1

∂D
∂ϕ

=0=
−sin (ϕ+kh)[1+ sin (kh)kh

cosϕ]− [1+cos(ϕ+kh) ] [−sin (kh)kh
sinϕ]

[1+ sin (kh)kh
cosϕ]

2

0=−sin (ϕ+kh)−sin (ϕ+kh)
sin (kh)
kh

cosϕ+
sin (kh)
kh

sinϕ+cos (ϕ+kh)
sin (kh)
kh

sin ϕ

0=
sin (kh)
kh

sinϕ−sin (ϕ+kh)−
sin2(kh)
kh

0=[ sin (kh)kh
−cos (kh)]sinϕ−sin (kh)cosϕ−

sin2(kh)
kh

[ sin (kh)kh
−cos (kh)]

2

sin2ϕ−2[ sin (kh)kh
−cos(kh)] sin

2
(kh)
kh

sinϕ+
sin4 (kh)

(kh)2
=

=sin2(kh)−sin2(kh)sin2ϕ

−sin (ϕ+kh)cosϕ+cos (ϕ+kh)sinϕ=−sin (kh)

[ sin (kh)kh
−cos (kh)]sinϕ−

sin2(kh)
kh

=sin (kh)√1−sin2ϕ

[ sin
2
(kh)

(kh)2
−2

sin (kh)
kh

cos(kh)+1 ]sin2ϕ−

−2 [ sin (kh)kh
−cos(kh)] sin

2(kh)
kh

sinϕ+
sin4(kh)

(kh)2
−sin2(kh)=0

Približek h<λ /4 → ϕ≈π+
kh
3
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